Equipment Work Order Detail

Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
4792	Service Engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Tracy Deutmeyer	12/18/2019	Transferred	Shop
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
6424	Service Engine	Proactive Repair	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	10/25/2019	Tracy Deutmeyer	1 HR	
Work Order Ite	em Parts							
Part ID	Part Descript	ion		Quantity		UM	Unit Price	Part Cost
B99SS	LUBE SPIN ON	FILTER SEVERE		2.00		EACH	\$11.31	\$22.62
RS3510	RADIAL SEAL C	UTER AIR ELEMEN		2.00		EACH	\$32.99	\$65.98
BF7587	SPIN ON FUEL	FILTER		2.00		EACH	\$7.25	\$14.50
15W40	OIL			64.00		QT	\$2.25	\$144.00
OILSAMPLE	OIL SAMPLE RS	510		1.00		EACH	\$10.00	\$10.00
	Total Work O	rder Item Part Cos	st [6424]					\$257.10
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cost
Pat Oberbroecklin	ng		10/25/2019 Oil ch	ange		1.00	RC1	\$60.00
Carl Wegmann			10/25/2019 Oil ch	ange		1.00	RC1	\$60.00
	Total Work O	rder Item Labor Co	ost [6424]			2.00		\$120.00
		Total Labor Cost		ost	Total Cost	t		
Work Order 47	92 Total Cost	\$120.00	\$257	.10	\$377.10)		
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
4960	Service Engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Tracy Deutmeyer	12/20/2019	Transferred	Shop
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
6634	Oil Change	Proactive Repair	Oil Change	Oil Change	Preventive	Preventive	None	

Filters: Start Date - 6/2/2019; End Date - 7/6/2023; Equipment - 8026 1999 CATERPILLAR/LOADKING 3412 [99. 7.8026]; Show labor - Yes; Show parts - Yes

Maintenance

Maintenance

Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	09/05/2019	Tracy Deutmeyer	19775 HR	
Work Order Ite	em Parts							
Part ID	Part Descriptio	n		Quantity		UM	Unit Price	Part Cos
BF7587	SPIN ON FUEL FI	LTER		2.00		EACH	\$7.25	\$14.5
B99SS	LUBE SPIN ON F	ILTER SEVERE		2.00		EACH	\$11.31	\$22.6
OILSAMPLE	OIL SAMPLE RS1	0		1.00		EACH	\$10.00	\$10.0
RS3510	RADIAL SEAL OU	TER AIR ELEMEN		2.00		EACH	\$32.99	\$65.9
15W40	OIL			64.00		QT	\$2.25	\$144.0
	Total Work Ord	ler Item Part Cos	st [6634]					\$257.1
Work Order Ite	em Labor							
Employee			Date Labo	or Description		Labor Hours	Labor Rate	Labor Cos
Timothy Nefzger			09/05/2019 Oil ch	- nange		1.25	RC1	\$75.0
	Total Work Ord	ler Item Labor C		ost	Total Cost	1.25		\$75.0
		Total Labor Cost	Total Part C					\$75.0
	60 Total Cost	Total Labor Cost \$75.00	Total Part C 5 \$257	.10	\$332.10			\$75.0
	60 Total Cost	Total Labor Cost	Total Part C 5 9 \$257	.10			Status Name	\$75.0 Planned Work Location
Work Order ID	60 Total Cost	Total Labor Cost \$75.00 Equipment ID	Total Part C 5 \$257	.10	\$332.10	Created On	Status Name Transferred	Planned Work
Work Order ID 5779 Work Order	60 Total Cost Description annual Inspection of engine	Total Labor Cost \$75.00 Equipment ID	Total Part C 5 \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING	.10 Priority Name	\$332.10 Created By	Created On		Planned Work Location
Work Order 49 Work Order ID 5779 Work Order Item ID 7961	60 Total Cost Description annual Inspection of engine and trailer Work Order Item	Total Labor Cost \$75.00 Equipment ID 99. 7.8026	Total Part C \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412	.10 Priority Name	\$332.10 Created By Randy Backes	Created On 01/21/2020	Transferred	Planned Work Location Shop
Work Order ID 5779 Work Order Item ID	60 Total Cost Description annual Inspection of engine and trailer Work Order Item Description annual Inspection of engine	Total Labor Cost \$75.00 Equipment ID 99. 7.8026 Type Winter	Total Part C \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections /	.10 Priority Name Low Subcomponent Annual Inspections /	\$332.10 Created By Randy Backes Failure Preventive	Created On 01/21/2020 Action Preventive Maintenance Completed	Transferred Problem	Planned Work Location Shop
Work Order ID 5779 Work Order Item ID 7961	60 Total Cost Description annual Inspection of engine and trailer Work Order Item Description annual Inspection of engine and trailer	Total Labor Cost \$75.00 Equipment ID 99. 7.8026 Type Winter Maintenance Tracking	Total Part C \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account	.10 Priority Name Low Subcomponent Annual Inspections / Repairs	\$332.10 Created By Randy Backes Failure Preventive Maintenance Completion Date	Created On 01/21/2020 Action Preventive Maintenance Completed	Transferred Problem None Completion	Planned Work Location Shop Work Location
Work Order ID 5779 Work Order Item ID 7961 Job ID	60 Total Cost Description annual Inspection of engine and trailer Work Order Item Description annual Inspection of engine and trailer Job Descriptiton -	Total Labor Cost \$75.00 Equipment ID 99. 7.8026 Type Winter Maintenance Tracking	Total Part C \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account Description	.10 Priority Name Low Subcomponent Annual Inspections / Repairs Item Condition	\$332.10 Created By Randy Backes Failure Preventive Maintenance Completion Date	Created On 01/21/2020 Action Preventive Maintenance Completed By	Transferred Problem None Completion Meter Reading	Planned Work Location Shop Work Location
Work Order ID 5779 Work Order Item ID 7961 Job ID - Work Order Ite	60 Total Cost Description annual Inspection of engine and trailer Work Order Item Description annual Inspection of engine and trailer Job Descriptiton -	Total Labor Cost \$75.00 Equipment ID 99. 7.8026 Type Winter Maintenance Tracking Account ID	Total Part C \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account Description	.10 Priority Name Low Subcomponent Annual Inspections / Repairs Item Condition	\$332.10 Created By Randy Backes Failure Preventive Maintenance Completion Date	Created On 01/21/2020 Action Preventive Maintenance Completed By	Transferred Problem None Completion Meter Reading	Planned Work Location Shop Work Location
Work Order ID 5779 Work Order Item ID 7961	60 Total Cost Description annual Inspection of engine and trailer Work Order Item Description annual Inspection of engine and trailer Job Descriptiton - m Parts	Total Labor Cost \$75.00 Equipment ID 99. 7.8026 Type Winter Maintenance Tracking Account ID -	Total Part C \$257 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account Description	.10 Priority Name Low Subcomponent Annual Inspections / Repairs Item Condition Complete	\$332.10 Created By Randy Backes Failure Preventive Maintenance Completion Date	Created On 01/21/2020 Action Preventive Maintenance Completed By Completed By Tracy Deutmeyer	Transferred Problem None Completion Meter Reading 20473 HR	Planned Work Location Shop Work Location Warranty

Employee	Date Labor Description	Labor Hours	Labor Rate	Labor Cost
Randy Backes	01/20/2020 annual Inspection	24.00	RC1	\$1,440.00
Randy Backes	01/16/2020 annual Inspection	24.00	RC1	\$0.00
	Total Work Order Item Labor Cost [7961]	48.00		\$1,440.00

		Total Labor Cost		ost	Total Cost			
Work Order 57	79 Total Cost	\$1,440.00	\$800	.00	\$2,240.00			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
5941	annual repair	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	High - Non Emergency	Tim Nefzger	01/27/2020	Transferred	Shop
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
8256	annual service	Winter Maintenance	Annual Inspections / Winter Maintenance	Annual Inspections / Repairs	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	In Process	01/21/2020	Brian Thornton		
Work Order Ite	em Parts							
Part ID	Part Descri	ption		Quantity		UM	Unit Price	Part Cos
	misc bolts &	steel		1.00		EACH	\$20.00	\$20.0
	Total Work	Order Item Part Cos	t [8256]					\$20.0
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Randy Backes			01/27/2020 annua	al service		1.25	RC1	\$75.0
Timothy Nefzger			01/27/2020 annua	al service		5.00	RC1	\$300.0
	Total Work	Order Item Labor Co	ost [8256]			6.25		\$375.0
		Total Labor Cost		ost	Total Cost			
Work Order 59	41 Total Cost	\$375.00	\$20	.00	\$395.00			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
8473	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	05/06/2020	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location

12109	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	05/06/2020	Brian Thornton	20740 HR	
Work Order It	tem Parts							
Part ID	Part Descript	ion		Quantity		UM	Unit Price	Part Cost
BF7587	SPIN ON FUEL	FILTER		2.00		EACH	\$7.75	\$15.50
OILSAMPLE	OIL SAMPLE R	S10		1.00		EACH	\$10.00	\$10.00
15W40	15 W 40 Oil			64.00		QT	\$2.60	\$166.40
RS3510	RADIAL SEAL (OUTER AIR ELEMEN		2.00		EACH	\$33.75	\$67.50
B99SS	LUBE SPIN ON	FILTER SEVERE		2.00		EACH	\$12.00	\$24.00
	Total Work O	rder Item Part Co	st [12109]					\$283.40
Work Order It	tem Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cost
			05/06/0000 11			4.25	DC1	\$75.00
Vince Averkamp)		05/06/2020 oil ch	ange		1.25	RC1	\$75.00
Vince Averkamp Timothy Nefzge			05/06/2020 oil ch 05/06/2020 oil ch	-		0.75	RC1 RC1	\$45.00
	r	rder Item Labor C	05/06/2020 oil ch	-				•
	r	rder Item Labor C Total Labo Cos	05/06/2020 oil ch ost [12109] r Total Part C	ange	Total Cost	0.75 2.00		\$45.00
Timothy Nefzge	r	Total Labo	05/06/2020 oil ch ost [12109] r Total Part C t	ost	Total Cost \$403.40	0.75 2.00		\$45.00
Timothy Nefzge	Total Work O	Total Labo Cos	05/06/2020 oil ch ost [12109] r Total Part C t	ost .40		0.75 2.00		\$45.00
Timothy Nefzge	Total Work O	Total Labo Cos \$120.00	05/06/2020 oil ch ost [12109] r Total Part C t D \$283	ost .40	\$403.40	0.75 2.00 Created On	RC1	\$45.00 \$120.00 Planned Work
Timothy Nefzge Work Order 8 Work Order II	Total Work 0 473 Total Cost D Description	Total Labo Cos \$120.00 Equipment ID	05/06/2020 oil ch ost [12109] r Total Part C t D \$283 Equipment Description 8026 1999 CATERPILLAR/LOADKING	ost .40 Priority Name	\$403.40 Created By	0.75 2.00 Created On	RC1 Status Name	\$45.00 \$120.00 Planned Work Location
Timothy Nefzge Work Order 8 Work Order II 10049 Work Order	Total Work 0 473 Total Cost D Description service engine Work Order Item	Total Labo Cos \$120.00 Equipment ID 99. 7.8026	05/06/2020 oil ch ost [12109] r Total Part C t \$283 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412	ost .40 Priority Name Medium	\$403.40 Created By Tim Nefzger	0.75 2.00 Created On 06/15/2020	RC1 Status Name Transferred	\$45.00 \$120.00 Planned Work Location Field
Timothy Nefzge Work Order 84 Work Order II 10049 Work Order Item ID	Total Work C 473 Total Cost D Description service engine Work Order Item Description	Total Labo Cos \$120.00 Equipment ID 99. 7.8026 Type Preventative	05/06/2020 oil ch ost [12109] r Total Part C b \$283 Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component	ost .40 Priority Name Medium Subcomponent	\$403.40 Created By Tim Nefzger Failure Preventive	0.75 2.00 Created On 06/15/2020 Action Preventive Maintenance Completed	RC1 Status Name Transferred Problem	\$45.00 \$120.00 Planned Work Location Field Work Location

Work Order Item Parts

Part ID	Part Description	Quantity	UM	Unit Price	Part Cost
B99SS	LUBE SPIN ON FILTER SEVERE	2.00	EACH	\$12.00	\$24.00
RS3510	RADIAL SEAL OUTER AIR ELEMEN	2.00	EACH	\$33.75	\$67.50
BF7587	SPIN ON FUEL FILTER	2.00	EACH	\$7.75	\$15.50
15W40	15 W 40 Oil	64.00	QT	\$2.60	\$166.40
OILSAMPLE	OIL SAMPLE RS10	1.00	EACH	\$10.00	\$10.00
RS3511	RADIAL SEAL INNER AIR ELEMEN	2.00	EACH	\$29.50	\$59.00
	Total Work Order Item Part Cost [14539]				\$342.40

Employee	Date Labor Description	Labor Hours	Labor Rate	Labor Cost
Timothy Nefzger	06/16/2020 service engine	0.50	RC1	\$30.00
Vince Averkamp	06/16/2020 service engine	1.25	RC1	\$75.00
Patrick Torrance	06/16/2020 service engine	1.25	RC1	\$75.00
	Total Work Order Item Labor Cost [14539]	3.00		\$180.00

		Total Labor Cost		ost	Total Cost	:		
Work Order 10	049 Total Cost	\$180.00	\$342.	.40	\$522.40			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
11256	service engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	08/03/2020	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
16220	service engine	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	167 LAMONT QUARRY
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	07/27/2020	Brian Thornton	21257 HR	
Work Order Ite	m Parts							
Part ID	Part Descript	tion		Quantity		UM	Unit Price	Part Cos
15W40	15 W 40 Oil			60.00		QT	\$2.60	\$156.00
OILSAMPLE	OIL SAMPLE R	S10		1.00		EACH	\$10.00	\$10.00
BF7587	SPIN ON FUEL	. FILTER		2.00		EACH	\$7.75	\$15.50
B99SS	LUBE SPIN ON	I FILTER SEVERE		2.00		EACH	\$12.00	\$24.00
RS3510	RADIAL SEAL	OUTER AIR ELEMEN		2.00		EACH	\$33.75	\$67.50
	Total Work C	Order Item Part Cos	it [16220]					\$273.00

Employee	Date Labor Description	Labor Hours	Labor Rate	Labor Cost
Charles Settle	07/27/2020 service engine	1.00	RC1	\$60.00
Timothy Nefzger	07/27/2020 service engine	1.00	RC1	\$60.00
	Total Work Order Item Labor Cost [16220]	2.00		\$120.00

		Total Labor Cost		ost	Total Cost	:		
Work Order 11	256 Total Cost	6 Total Cost \$120.00		\$273.00		\$393.00		
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
12559	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	09/14/2020	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
17976	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	122 Cascade East Quarry
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	09/09/2020	Brian Thornton	21520 HR	
Work Order Ite	em Parts							
Part ID	Part Descrip	tion		Quantity		UM	Unit Price	Part Cos
RS3510	RADIAL SEAL	OUTER AIR ELEMEN		2.00		EACH	\$33.75	\$67.50
RS3511	RADIAL SEAL	INNER AIR ELEMEN		2.00		EACH	\$29.50	\$59.0
B99SS	LUBE SPIN ON	I FILTER SEVERE		2.00		EACH	\$12.00	\$24.00
15W40	15 W 40 Oil			60.00		QT	\$2.60	\$156.00
BF7587	SPIN ON FUE	_ FILTER		2.00		EACH	\$7.75	\$15.50
OILSAMPLE	OIL SAMPLE F	RS10		1.00		EACH	\$10.00	\$10.00
	Total Work (Order Item Part Cos	st [17976]					\$332.00
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cost
Vince Averkamp			09/09/2020 oil ch	ange		1.00	RC1	\$60.00
Patrick Torrance			09/09/2020 oil ch	ange		1.00	RC1	\$60.00
	Total Work (Order Item Labor Co	ost [17976]			2.00		\$120.00
		Total Labor	Total Part C	_	Total Cost			

	Total Labor Cost	Total Part Cost	Total Cost
Work Order 12559 Total Cost	\$120.00	\$332.00	\$452.00

Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
13743	service engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	10/21/2020	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
19552	service engine	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	10/20/2020	Brian Thornton	21791 HR	
Work Order Ite	m Parts							
Part ID	Part Description	on		Quantity		UM	Unit Price	Part Cos
15W40	15 W 40 Oil			64.00		QT	\$2.60	\$166.4
OILSAMPLE	OIL SAMPLE RS1	10		1.00		EACH	\$10.00	\$10.0
RS3510	RADIAL SEAL OU	JTER AIR ELEMEN		2.00		EACH	\$33.75	\$67.5
B99SS	LUBE SPIN ON F	ILTER SEVERE		2.00		EACH	\$12.00	\$24.0
BF7587	SPIN ON FUEL F	ILTER		2.00		EACH	\$7.75	\$15.5
	Total Work Ore	der Item Part Cos	it [19552]					\$283.4
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Timothy Nefzger			10/20/2020 servic	e engine		1.75	RC1	\$105.0
Vince Averkamp			10/21/2020 servic	e engine		0.50	RC1	\$30.0
	Total Work Ore	der Item Labor Co	ost [19552]			2.25		\$135.0
		Total Labor Cost		ost	Total Cost	:		
Work Order 13	743 Total Cost	\$135.00	\$283	.40	\$418.40			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
15292	service engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	12/16/2020	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
21866	service engine	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty

-	-	-	-	Complete	12/10/2020	Brian Thornton	22062 HR	
Work Order It	em Parts							
Part ID	Part Descrip	otion		Quantity		UM	Unit Price	Part Cos
B99SS	LUBE SPIN OF	N FILTER SEVERE		2.00		EACH	\$12.00	\$24.0
RS3511	RADIAL SEAL	INNER AIR ELEMEN		2.00		EACH	\$29.50	\$59.0
OILSAMPLE	OIL SAMPLE F	RS10		1.00		EACH	\$10.00	\$10.0
15W40	15 W 40 Oil			60.00		QT	\$2.60	\$156.0
BF7587	SPIN ON FUE	L FILTER		2.00		EACH	\$7.75	\$15.5
RS3510	RADIAL SEAL	OUTER AIR ELEMEN		2.00		EACH	\$33.75	\$67.5
	Total Work	Order Item Part Cos	t [21866]					\$332.0
Work Order It	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Timothy Nefzger	r		12/10/2020 oil cha	ange		1.25	RC1	\$75.0
	Total Work (Order Item Labor Co	ost [21866]			1.25		\$75.0
		Total Labor Cost		ost	Total Cost			
Work Order 15	5292 Total Cost	Total Labor Cost \$75.00			Total Cost \$407.00			
		Cost					Status Name	Planned Work Location
Work Order 15 Work Order ID 16735		Cost \$75.00	\$332.	00	\$407.00	Created On	Status Name Transferred	
Work Order ID 16735 Work Order	Description 2021 Repairs and	Cost \$75.00 Equipment ID	\$332. Equipment Description 8026 1999 CATERPILLAR/LOADKING	00 Priority Name	\$407.00 Created By	Created On		Location
Work Order ID	D Description 2021 Repairs and Maintenance Work Order Item	Cost \$75.00 Equipment ID 99. 7.8026	\$332. Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412	00 Priority Name	\$407.00 Created By Tracy Deutmeyer	Created On 02/17/2021	Transferred	Location Shop
Work Order ID 16735 Work Order Item ID 25080	Description 2021 Repairs and Maintenance Work Order Item Description	Cost \$75.00 Equipment ID 99. 7.8026 Type Preventative	\$332. Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections /	00 Priority Name Low Subcomponent Annual Inspections /	\$407.00 Created By Tracy Deutmeyer Failure Preventive	Created On 02/17/2021 Action Preventive Maintenance Completed	Transferred Problem	Location Shop
Work Order ID 16735 Work Order Item ID	 Description 2021 Repairs and Maintenance Work Order Item Description Employee Hours 	Cost \$75.00 Equipment ID 99. 7.8026 Type Preventative Maintenance Tracking	\$332. Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account	00 Priority Name Low Subcomponent Annual Inspections / Repairs	\$407.00 Created By Tracy Deutmeyer Failure Preventive Maintenance Completion Date	Created On 02/17/2021 Action Preventive Maintenance Completed	Transferred Problem None Completion	Location Shop Work Location
Work Order ID 16735 Work Order Item ID 25080	 Description 2021 Repairs and Maintenance Work Order Item Description Employee Hours 	Cost \$75.00 Equipment ID 99. 7.8026 Type Preventative Maintenance Tracking	\$332. Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account	00 Priority Name Low Subcomponent Annual Inspections / Repairs Item Condition	\$407.00 Created By Tracy Deutmeyer Failure Preventive Maintenance Completion Date	Created On 02/17/2021 Action Preventive Maintenance Completed By	Transferred Problem None Completion Meter Reading	Location Shop Work Location
Work Order ID 16735 Work Order Item ID 25080	 Description 2021 Repairs and Maintenance Work Order Item Description Employee Hours 	Cost \$75.00 Equipment ID 99. 7.8026 Type Preventative Maintenance Tracking	\$332. Equipment Description 8026 1999 CATERPILLAR/LOADKING 3412 Component Annual Inspections / Winter Maintenance Tracking Account	00 Priority Name Low Subcomponent Annual Inspections / Repairs Item Condition	\$407.00 Created By Tracy Deutmeyer Failure Preventive Maintenance Completion Date	Created On 02/17/2021 Action Preventive Maintenance Completed By	Transferred Problem None Completion Meter Reading	Location Shop Work Location

25081	DOT INSPECTION	Preventative Maintenance	DOT Inspection	DOT Inspection	Inspection	Inspection	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Dat	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/202	1 Travis Kieler	22304 HR	

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25082	TUNE UP	Preventative Maintenance	Production Equipment	Other	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2021	Travis Kieler	22304 HR	

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25083	SERVICE ENGINE	Preventative Maintenance	Production Equipment	Other	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2023	L Travis Kieler	22304 HR	

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25084	WASH OUT RADIATOR	Preventative Maintenance	Production Equipment	Other	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2021	Travis Kieler	22304 HR	
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location

25085	MOUNT SPARE TIRE	Preventative Maintenance	Production Equipment	Other	Ν	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date (Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2021 7	Travis Kieler	22304 HR	

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25086	CLEAN TRAILER	Preventative Maintenance	Production Equipment	Other	Normal Wear and Tear	Repaired / Replaced	None	

Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2021	Travis Kieler	22304 HR	
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25087	CHECK ELECTRICAL	Preventative Maintenance	Production Equipment	Other	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2021	Travis Kieler	22304 HR	
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25088	INSTALL ENGINE HEATER	Preventative Maintenance	Production Equipment	Other	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/19/2021	Travis Kieler	22304 HR	

		Total Labor Cost		ost	Total Cost			
Work Order 167	735 Total Cost	\$1,852.50	\$1,256	.07	\$3,108.57			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
17582	annual inspection	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	High - Non Emergency	Randy Backes	03/29/2021	Transferred	Shop
	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
25767	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	04/01/2021	Brian Thornton	22305 HR	

	Total Labor Cost	Total Part Cost	Total Cost
Work Order 17582 Total Cost	\$666.25	\$0.00	\$666.25

Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
17749	Reseal Governor housing/Check valve lash	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Brian Thornton	04/06/2021	Transferred	Blank
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
27066	Reseal Governor housing/Check valve lash	Reactive Repair / Emergency Breakdown	Engine	Gaskets / O-Rings / Seals	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	04/06/2021	Brian Thornton	22554 HR	

		Total Labor Cost		ost	Total Cost	:		
Work Order 17	749 Total Cost	\$0.00	\$1,689	.34	\$1,689.34			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
19313	service engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	06/01/2021	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
28053	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	05/26/2021	Brian Thornton	22570 HR	
Work Order Ite	em Parts							
Part ID	Part Descript	ion		Quantity		UM	Unit Price	Part Cos
B99SS	LUBE SPIN ON	FILTER SEVERE		2.00		EACH	\$13.20	\$26.40
BF7587	SPIN ON FUEL	FILTER		2.00		EACH	\$8.53	\$17.05
OILSAMPLE	OIL SAMPLE RS	510		1.00		EACH	\$11.00	\$11.00
RS3510	RADIAL SEAL C	UTER AIR ELEMEN		2.00		EACH	\$37.13	\$74.25
RS3511	RADIAL SEAL I	NNER AIR ELEMEN		2.00		EACH	\$32.45	\$64.90
15W40	15 W 40 Oil			60.00		QT	\$2.86	\$171.60
	Total Work O	rder Item Part Cos	st [28053]					\$365.20

Employee	Date Labor Description	Labor Hours	Labor Rate	Labor Cost
Timothy Nefzger	05/26/2021 service engine	0.75	RC1	\$48.75
Carl Wegmann	05/26/2021 service engine	0.75	RC1	\$48.75
	Total Work Order Item Labor Cost [28053]	1.50		\$97.50

		Total Labor Cost		ost	Total Cost			
Work Order 19	313 Total Cost	\$97.50	\$365	.20	\$462.70			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
20794	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Tim Nefzger	07/15/2021	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
30863	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	07/15/2021	Brian Thornton	22820 HR	
Work Order Ite	em Parts							
Part ID	Part De	scription		Quantity		UM	Unit Price	Part Cos
BF7587	SPIN ON	FUEL FILTER		2.00		EACH	\$8.53	\$17.0
15W40	15 W 40	Oil		16.00		QT	\$2.86	\$45.7
B99SS	LUBE SP	IN ON FILTER SEVERE		2.00		EACH	\$13.20	\$26.4
RS3511	RADIAL	SEAL INNER AIR ELEMEN		2.00		EACH	\$32.45	\$64.9
RS3510	RADIAL	SEAL OUTER AIR ELEMEN		2.00		EACH	\$37.13	\$74.2
	Total W	ork Order Item Part Cos	t [30863]					\$228.3
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Patrick Torrance			07/15/2021 oil ch	ange		1.50	RC1	\$97.5
Carl Wegmann			07/15/2021 oil ch	ange		1.50	RC1	\$97.5
	Total W	ork Order Item Labor Co	ost [30863]			3.00		\$195.0
		Total Labor Cost		ost	Total Cost			
Work Order 20	794 Total Cost	\$195.00	\$228	.36	\$423.36			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work

								Location
22039	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	08/26/2021	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
31536	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	08/24/2021	Brian Thornton	23077 HR	
Work Order Ite	em Parts							
Part ID	Part Description	on		Quantity		UM	Unit Price	Part Cos
RS3510	RADIAL SEAL O	UTER AIR ELEMEN		2.00		EACH	\$37.13	\$74.2
B99SS	LUBE SPIN ON I	FILTER SEVERE		2.00		EACH	\$13.20	\$26.4
BF7587	SPIN ON FUEL F	FILTER		2.00		EACH	\$8.53	\$17.0
OILSAMPLE	OIL SAMPLE RS	10		1.00		EACH	\$11.00	\$11.0
RS3511	RADIAL SEAL IN	INER AIR ELEMEN		2.00		EACH	\$32.45	\$64.9
15W40	15 W 40 Oil			60.00		QT	\$2.86	\$171.6
	Total Work Or	der Item Part Cos	st [31536]					\$365.2
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Timothy Nefzger			08/24/2021 oil ch	ange		0.75	RC1	\$26.2
Vince Averkamp			08/24/2021 oil ch	ange		0.75	RC1	\$26.2
	Total Work Or	der Item Labor Co	ost [31536]			1.50		\$52.5
		Total Labor Cost		ost	Total Cost			
Work Order 22	039 Total Cost	\$52.50	\$365	.20	\$417.70			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
23494	service engine	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	10/18/2021	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
33816	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty

scription SEAL OUTER AIR ELEME FUEL FILTER IN ON FILTER SEVERE Oil SEAL INNER AIR ELEME PLE RS10 Fork Order Item Part C Total Lat Ca \$43.	N Cost [33816] Date Lab 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	Cost 5.20	Total Cost \$408.95 Created By	5	Unit Price \$37.13 \$8.53 \$13.20 \$2.86 \$32.45 \$11.00 Labor Rate RC1	Part Cos \$74.2 \$17.0 \$26.4 \$171.6 \$64.9 \$111.0 \$365.2 Labor Cos \$43.7 \$43.7
SEAL OUTER AIR ELEME FUEL FILTER IN ON FILTER SEVERE Oil SEAL INNER AIR ELEME PLE RS10 Fork Order Item Part Construction ork Order Item Labor	N Cost [33816] Date Lab 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	2.00 2.00 2.00 60.00 2.00 1.00	\$408.95	EACH EACH EACH QT EACH EACH EACH 1.25 1.25 1.25	\$37.13 \$8.53 \$13.20 \$2.86 \$32.45 \$11.00 Labor Rate RC1	\$74.2 \$17.0 \$26.4 \$171.6 \$64.9 \$11.0 \$365.2 Labor Cos \$43.7 \$43.7
SEAL OUTER AIR ELEME FUEL FILTER IN ON FILTER SEVERE Oil SEAL INNER AIR ELEME PLE RS10 Fork Order Item Part Construction ork Order Item Labor	N Cost [33816] Date Lab 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	2.00 2.00 2.00 60.00 2.00 1.00	\$408.95	EACH EACH EACH QT EACH EACH EACH 1.25 1.25 1.25	\$37.13 \$8.53 \$13.20 \$2.86 \$32.45 \$11.00 Labor Rate RC1	\$74.2 \$17.0 \$26.4 \$171.6 \$64.9 \$11.0 \$365.2 Labor Co \$43.7 \$43.7
FUEL FILTER IN ON FILTER SEVERE Oil SEAL INNER AIR ELEMEN PLE RS10 ork Order Item Part O ork Order Item Labor Total Lat	N Cost [33816] Date Lab 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	2.00 2.00 60.00 2.00 1.00 hor Description vice engine	\$408.95	EACH EACH QT EACH EACH 1.25 1.25 t	\$8.53 \$13.20 \$2.86 \$32.45 \$11.00 Labor Rate RC1	\$17.0 \$26.4 \$171.0 \$64.9 \$11.0 \$365.2 Labor Co \$43.7 \$43.7
Oil SEAL INNER AIR ELEMEN PLE RS10 Fork Order Item Part (ork Order Item Labor Total Lat	Cost [33816] Date Labo 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	60.00 2.00 1.00 Por Description Vice engine	\$408.95	QT EACH EACH Labor Hours 1.25 1.25 t	\$13.20 \$2.86 \$32.45 \$11.00 Labor Rate RC1	\$26. \$171. \$64. \$11. \$365. Labor Co \$43. \$43.
SEAL INNER AIR ELEMEN PLE RS10 ork Order Item Part (ork Order Item Labor Total Lat	Cost [33816] Date Labo 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	2.00 1.00 For Description vice engine	\$408.95	EACH EACH Labor Hours 1.25 1.25 t t	\$32.45 \$11.00 Labor Rate RC1	\$171. \$64. \$11. \$365. Labor Co \$43. \$43.
PLE RS10 ork Order Item Part (ork Order Item Labor Total Lat	Cost [33816] Date Labo 10/14/2021 servi Cost [33816] Door Total Part Cost .75 \$365	1.00 For Description rice engine	\$408.95	EACH EACH Labor Hours 1.25 1.25 t t	\$32.45 \$11.00 Labor Rate RC1	\$64. \$11. \$365. Labor Cc \$43. \$43.
ork Order Item Part (ork Order Item Labor Total Lat	Date Lab 10/14/2021 servi * Cost [33816] oor Total Part Cost .75 \$365	or Description vice engine Cost 5.20	\$408.95	Labor Hours 1.25 1.25 t	Labor Rate RC1	\$11. \$365. Labor Co \$43. \$43.
ork Order Item Labor Total Lat	Date Lab 10/14/2021 servi * Cost [33816] oor Total Part Cost .75 \$365	or Description vice engine Cost 5.20	\$408.95	1.25 1.25 t	RC1	\$365. Labor Co \$43. \$43.
Total Lat Co	10/14/2021 servi • Cost [33816] • Oor Total Part (• ost • 75 \$365	rice engine Cost 5.20	\$408.95	1.25 1.25 t	RC1	\$43. \$43.
Total Lat Co	10/14/2021 servi • Cost [33816] • Oor Total Part (• ost • 75 \$365	rice engine Cost 5.20	\$408.95	1.25 1.25 t	RC1	\$43. \$43 .7
Total Lab Co	10/14/2021 servi • Cost [33816] • Oor Total Part (• ost • 75 \$365	rice engine Cost 5.20	\$408.95	1.25 t		\$43.
Total Lab Co	Cost [33816] por Total Part (ost .75 \$365	Cost 5.20	\$408.95	t 5	Dn Status Name	\$43.7
Total Lab Co	oor Total Part (ost 75 \$365	5.20	\$408.95	5	Dn Status Name	· · · · · · · · · · · · · · · · · · ·
	D Equipment Description	n Priority Name	Created By	Created C	On Status Name	Dianned Work
Equipment I						Location
99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Medium	Tim Nefzger	12/02/202	21 Transferred	Field
Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	Complete	11/29/2021	1 Brian Thornton	23607 HR	
scription		Quantity		UM	Unit Price	Part Co
SEAL OUTER AIR ELEME	N	2.00		EACH	\$37.13	\$74.
		2.00		EACH	\$13.20	\$26.
IN ON FILTER SEVERE		2.00		EACH	\$8.53	\$17
		1.00		EACH	\$11.00	\$11
FUEL FILTER				QT	\$2.86	\$171.
AL S	Description AL SEAL OUTER AIR ELEME SPIN ON FILTER SEVERE ON FUEL FILTER AMPLE RS10	AL SEAL OUTER AIR ELEMEN SPIN ON FILTER SEVERE ON FUEL FILTER	AL SEAL OUTER AIR ELEMEN 2.00 SPIN ON FILTER SEVERE 2.00 ON FUEL FILTER 2.00	AL SEAL OUTER AIR ELEMEN 2.00 SPIN ON FILTER SEVERE 2.00 ON FUEL FILTER 2.00 AMPLE RS10 1.00	AL SEAL OUTER AIR ELEMEN2.00EACHSPIN ON FILTER SEVERE2.00EACHON FUEL FILTER2.00EACHAMPLE RS101.00EACH	AL SEAL OUTER AIR ELEMEN2.00EACH\$37.13SPIN ON FILTER SEVERE2.00EACH\$13.20ON FUEL FILTER2.00EACH\$8.53CAMPLE RS101.00EACH\$11.00

Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Timothy Nefzger			11/29/2021 oil cha	ange		1.00	RC1	\$35.0
	Total Work Or	der Item Labor Co	ost [35397]			1.00		\$35.0
		Total Labor Cost		ost	Total Cost			
Work Order 24	819 Total Cost	\$35.00	\$300.	30	\$335.30			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
24917	Install new Oil pressure Sensor	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Brian Thornton	12/06/2021	Transferred	Blank
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
36384	Install new Oil pressure Sensor	Reactive Repair / Emergency Breakdown	Engine	Other	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	12/06/2021	Brian Thornton	23607 HR	
Work Order Ite	m Parts							
Part ID	Part Descripti	on		Quantity		UM	Unit Price	Part Cos
	246-8150 psi se	nsor		1.00		EACH	\$90.00	\$90.0
	Total Work Or	der Item Part Cos	t [36384]					\$90.0
Work Order Ite	m Labor							
Employee				r Description		Labor Hours	Labor Rate	Labor Cos
Brian Thornton			11/30/2021 Instal senso	•		2.00	RC1	\$0.0
	Total Work Or	der Item Labor Co	ost [36384]			2.00		\$0.0
		Total Labor Cost		ost	Total Cost			
Work Order 24	917 Total Cost	\$0.00	\$90.	00	\$90.00			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
25735	test	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Tim Nefzger	01/11/2022	Transferred	Blank
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location

29297	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
30425	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Dat	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	01/11/202	2 B2W Admin	23607 HR	

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
32797	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	01/11/2022	2 B2W Admin	23607 HR	

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
37442	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	e Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	01/11/2022	2 B2W Admin	23607 HR	

	Total Labor Cost	Total Part Cost		Total Cost		
Work Order 25735 Total Cost	\$0.00	\$0.00		\$0.00		
Work Order ID Description	Equipment ID E	Equipment Description	Priority Name	Created By	Created On Status Name	Planned Work Location

25747	DOT INSPECTION	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Brandon Zasada	01/12/2022	Transferred	Shop
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
37783	DOT INSPECTION	Preventative Maintenance	DOT Inspection	DOT Inspection	Inspection	Inspected / Advised	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	01/12/2022	Brandon Zasada	23607 HR	
Work Order Ite	em Parts							
Part ID	Part Description	n		Quantity		UM	Unit Price	Part Cost
SHOPSUPP	SHOP SUPPLIES			3.00		EACH	\$20.00	\$60.00
	Total Work Ord	ler Item Part Cos	st [37783]					\$60.00
Work Order Ite	em Labor							
Employee			Date Labo	or Description		Labor Hours	Labor Rate	Labor Cost
Brandon Zasada			FIXE	PECTED TRAILER, JSTED BRAKES, D 2 LIGHTS THAT JE INOP		2.00	RC1	\$130.00
	Total Work Ord	ler Item Labor Co	ost [37783]			2.00		\$130.00
		Total Labor Cost		Cost	Total Cost	:		
Work Order 25	747 Total Cost	\$130.00	\$60	0.00	\$190.00			
Work Order ID	Description	Equipment ID	Equipment Description	n Priority Name	Created By	Created On	Status Name	Planned Work Location
26199	annual inspection and service	e 99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	High - Non Emergency	Randy Backes	02/09/2022	Transferred	Shop
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
38634	Oil Change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	02/09/2022	Brian Thornton	23745 HR	
Work Order Ite	em Parts							
Part ID	Part Descriptio	n		Quantity		UM	Unit Price	Part Cost
Part ID	Part Descriptio Filters and oil	n		Quantity 1.00		EACH	Unit Price \$450.00	Part Cost \$450.00

Employee	Date Labor Description	Labor Hours	Labor Rate	Labor Cost
Randy Backes	02/10/2022 annual inspection and service	10.00	RC1	\$650.00
Randy Backes	02/09/2022 annual inspection and service	3.00	RC1	\$195.00
	Total Work Order Item Labor Cost [38634]	13.00		\$845.00

		Total Labor Cost		ost	Total Cost			
Work Order 26199 Total Cost		\$845.00	\$450.	.00	\$1,295.00			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
27597	TIRES	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	B2W Admin	04/19/2022	Transferred	Blank
	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
41088	TIRES	Preventative Maintenance	Tires / Wheels	Tires - All	Normal Wear and Tear	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
	-	-	-	Complete	04/19/2022	B2W Admin	23745 HR	

		Total Labor Cost		ost	Total Cost	:		
Work Order 27	597 Total Cost	\$0.00	\$293	.69	\$293.69)		
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
28340	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Charles Settle	05/11/2022	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
42077	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	05/11/2022	Brian Thornton	23996 HR	Not Covered by Warranty

Work Order Item Parts

work order ne								
Part ID	Part Descrip	tion		Quantity		UM	Unit Price	Part Cost
RS3510	RADIAL SEAL	OUTER AIR ELEMEN		2.00		EACH	\$37.13	\$74.25
B99SS	LUBE SPIN O	N FILTER SEVERE		2.00		EACH	\$13.20	\$26.40
MISC	MISC SHOP S	UPPLIES		1.00		EACH	\$44.00	\$44.00
15W40	15 W 40 Oil			64.00		QT	\$3.32	\$212.48
BF7587	SPIN ON FUE	L FILTER		2.00		EACH	\$8.53	\$17.05
	Total Work	Order Item Part Cos	st [42077]					\$374.18
Work Order Ite	em Labor							
Employee			Date Labo	or Description		Labor Hours	Labor Rate	Labor Cost
Zachary Prier	ary Prier		05/09/2022 oil ch	lange		2.00	RC1	\$140.00
Clyde Palmer	·		05/09/2022 oil ch	lange		2.00	RC1	\$140.00
	Total Work	Order Item Labor Co	ost [42077]	-		4.00		\$280.00
		Total Labor Cost		Cost	Total Cost	:		
Work Order 28	340 Total Cost	\$280.00		.18	\$654.18			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
29630	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Charles Settle	06/22/2022	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
43811	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	06/22/2022	Brian Thornton	24252 HR	Not Covered by Warranty
Work Order Ite	em Parts							
Part ID	Part Descrip	tion		Quantity		UM	Unit Price	Part Cost
15W40	15 W 40 Oil			64.00		QT	\$3.32	\$212.48
B99SS	LUBE SPIN OF	N FILTER SEVERE		2.00		EACH	\$13.20	\$26.40
BF7587	SPIN ON FUE	L FILTER		2.00		EACH	\$8.53	\$17.05
MISC	MISC SHOP S			1.00		EACH	\$44.00	\$44.00
RS3511	RADIAL SEAL	INNER AIR ELEMEN		2.00		EACH	\$32.45	\$64.90
RS3510	RADIAL SEAL	OUTER AIR ELEMEN		2.00		EACH	\$37.13	\$74.25
							:	

Total Work Order Item Part Cost [43811]

Employee	Date Labor Description	Labor Hours	Labor Rate	Labor Cost
Zachary Prier	06/22/2022 oil change	1.50	RC1	\$105.00
John Schwendinger	06/22/2022 oil change	1.50	RC1	\$105.00
Tim Hillers	06/22/2022 oil change	1.00	RC1	\$70.00
	Total Work Order Item Labor Cost [43811]	4.00		\$280.00

		Total Labor Cost		ost	Total Cost			
Work Order 29630 Total Cost		\$280.00	\$439.	.08	\$719.08			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
29679	replace starter	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Randy Backes	06/24/2022	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
43908	replace starter	Proactive Repair	Electrical System	Ignition / Starter	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	06/24/2022	Brian Thornton	24272 HR	
Work Order Ite	m Parts							
Part ID	Part Descripti	on		Quantity		UM	Unit Price	Part Cos
	starter			1.00		EACH	\$650.00	\$650.00
	Total Work Or	der Item Part Cos	t [43908]					\$650.00
Work Order Ite	m Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cos
Randy Backes			06/24/2022 replac	ce starter		2.50	RC1	\$175.00
	Total Work Or	der Item Labor Co	ost [43908]			2.50		\$175.00
		Total Labor Cost		ost	Total Cost			
Work Order 29	679 Total Cost	\$175.00	\$650.	.00	\$825.00			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
30181	McAllister repair. Breaker	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Travis Kieler	07/12/2022	Transferred	Blank

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
44560	McAllister repair. Breaker	New Component	Electrical System	Other	Normal Wear and Tear	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	07/12/2022	Travis Kieler	1 HR	
		Total Labor Cost		ost	Total Cost	:		
Work Order 30)181 Total Cost	\$0.00		.34	\$992.34			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
31094	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Charles Settle	08/10/2022	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
45762	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	08/10/2022	Brian Thornton	24511 HR	Not Covered by Warranty
Work Order Ite	em Parts							
Part ID	Part Descript	ion		Quantity		UM	Unit Price	Part Cost
MISC	MISC SHOP SU	PPLIES		1.00		EACH	\$49.28	\$49.28
BF7587	SPIN ON FUEL	FILTER		2.00		EACH	\$9.55	\$19.10
OILSAMPLE	OIL SAMPLE RS	510		1.00		EACH	\$12.32	\$12.32
B99SS	LUBE SPIN ON	FILTER SEVERE		2.00		EACH	\$14.78	\$29.57
15W40	15 W 40 Oil			48.00		QT	\$3.72	\$178.48
RS3510	RADIAL SEAL C	UTER AIR ELEMEN		2.00		EACH	\$41.58	\$83.16
		rder Item Part Cos	st [45762]					\$371.91
Work Order It	em Labor							
Employee				or Description		Labor Hours	Labor Rate	Labor Cost
Patrick Torrance			08/10/2022 oil ch			2.00	RC1	\$70.00
Zachary Prier			08/10/2022 oil ch	ange		2.00	RC1	\$70.00
	Total Work O	rder Item Labor Co	ost [45762]			4.00		\$140.00

		Total Labor Cost		ost	Total Cost			
Work Order 31094 Total Cost		\$140.00 \$371.91		.91	\$511.91			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
32434	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Charles Settle	09/23/2022	Transferred	Field
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
47467	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	09/23/2022	Brian Thornton	24775 HR	Not Covered by Warranty
Work Order Ite	em Parts							
Part ID	Part Descrip	otion		Quantity		UM	Unit Price	Part Cost
B99SS	LUBE SPIN O	N FILTER SEVERE		2.00		EACH	\$14.78	\$29.57
BF7587	SPIN ON FUE	L FILTER		2.00		EACH	\$9.55	\$19.10
15W40	15 W 40 Oil			48.00		QT	\$3.72	\$178.48
RS3510	RADIAL SEAL	OUTER AIR ELEMEN		2.00		EACH	\$41.58	\$83.16
OILSAMPLE	OIL SAMPLE	RS10		1.00		EACH	\$12.32	\$12.32
MISC	MISC SHOP S	SUPPLIES		1.00		EACH	\$49.28	\$49.28
RS3511	RADIAL SEAL	INNER AIR ELEMEN		2.00		EACH	\$36.34	\$72.69
	Total Work	Order Item Part Cos	t [47467]					\$444.60
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cost
Zachary Prier			09/19/2022 oil ch	ange		2.00	RC1	\$70.00
John Schwending	ger		09/19/2022 oil ch	ange		2.00	RC1	\$70.00
Clyde Palmer			09/19/2022 oil 3			1.00	RC1	\$35.00
	Total Work	Order Item Labor Co	ost [47467]			5.00		\$175.00
		Total Labor Cost		ost	Total Cost			
Work Order 32	434 Total Cost	\$175.00		.60	\$619.60			
Work Order ID	Description	-	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
33756	oil change	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Charles Settle	11/02/2022	Transferred	Field

Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
49236	oil change	Preventative Maintenance	Oil Change	Oil Change	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	11/02/2022	Brian Thornton	25025 HR	Not Covered by Warranty
Work Order Ite	em Parts							
Part ID	Part Description	n		Quantity		UM	Unit Price	Part Cost
B99SS	LUBE SPIN ON FI	LTER SEVERE		2.00		EACH	\$14.78	\$29.57
OILSAMPLE	OIL SAMPLE RS1	D		1.00		EACH	\$12.32	\$12.32
	PA3510 air filter			2.00		EACH	\$1.00	\$2.00
15W40	15 W 40 Oil			64.00		QT	\$3.72	\$237.98
MISC	MISC SHOP SUPP	LIES		1.00		EACH	\$49.28	\$49.28
BF7587	SPIN ON FUEL FI	LTER		2.00		EACH	\$9.55	\$19.10
	Total Work Ord	er Item Part Cos	t [49236]					\$350.24
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cost
Patrick Torrance			11/02/2022 oil ch	ange		2.00	RC1	\$70.00
Clyde Palmer			11/02/2022 oil ch	ange		2.00	RC1	\$70.00
	Total Work Ord	er Item Labor Co	ost [49236]			4.00		\$140.00
		Total Labor Cost		ost	Total Cost			
Work Order 33	756 Total Cost	\$140.00	\$350	.24	\$490.24			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
35242	Replace thermostat on block heater.	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Brian Thornton	12/29/2022	Transferred	Blank
Work Order Item ID	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
51284	Replace thermostat on block heater.	Reactive Repair / Emergency Breakdown	Engine	Other	Other	Repaired / Replaced	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	12/29/2022	Brian Thornton	25025 HR	

		Total Labor Cost		ost	Total Cost			
Work Order 35242 Total Cost		\$0.00 \$440.00		00	\$440.00			
Work Order ID	Description	Equipment ID	Equipment Description	Priority Name	Created By	Created On	Status Name	Planned Work Location
35721	winter maintenance	99. 7.8026	8026 1999 CATERPILLAR/LOADKING 3412	Low	Charles Settle	01/23/2023	Transferred	Shop
	Work Order Item Description	Туре	Component	Subcomponent	Failure	Action	Problem	Work Location
51994	winter maintenance	Preventative Maintenance	Annual Inspections / Winter Maintenance	Annual Inspections / Repairs	Preventive Maintenance	Preventive Maintenance Completed	None	
Job ID	Job Descriptiton	Tracking Account ID	Tracking Account Description	Item Condition	Completion Date	Completed By	Completion Meter Reading	Warranty
-	-	-	-	Complete	03/27/2023	B2W Admin	25025 HR	Not Covered by Warranty
Work Order Ite	em Parts							
Part ID	Part Descripti	on		Quantity		UM	Unit Price	Part Cost
MISC	MISC SHOP SUF	PPLIES		1.00		EACH	\$200.00	\$200.00
	Total Work Or	rder Item Part Cos	t [51994]					\$200.00
Work Order Ite	em Labor							
Employee			Date Labo	r Description		Labor Hours	Labor Rate	Labor Cost
Brian Mormann			01/20/2023 winter	r maintenance		5.50	RC1	\$385.00
Charles Settle			01/19/2023 winte	r maintenance		3.00	RC1	\$210.00
Marvin Wulfekuhl	le		01/19/2023 winter	r maintenance		3.00	RC1	\$210.00
Charles Settle			01/20/2023 winter	r maintenance		5.50	RC1	\$385.00
Dakoda Elledge			01/20/2023 winter	r maintenance		5.50	RC1	\$385.00
Brian Mormann			01/19/2023 winter	r maintenance		3.00	RC1	\$210.00
Dakoda Elledge			01/19/2023 winter	r maintenance		3.00	RC1	\$210.00
Marvin Wulfekuhl	le		01/20/2023 winter	r maintenance		4.00	RC1	\$280.00
	Total Work Or	rder Item Labor Co	ost [51994]			32.50		\$2,275.00
		Total Labor Cost		ost	Total Cost			
Work Order 357	721 Total Cost	\$2,275.00		00	\$2,475.00			
		Tatallahau	Total Part Co	oct	Total Cost			
		Total Labor Cost		JSC	Total Cost			